
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

write the correct word under each picture.                              

  

 

 

 

 

 

 

 

 

Hurt from an accident   injury 1 

Payment for cost of an accident   witness 2 

Where tow road cross  intersection 3 

Someone who saw an event  insurance 4 

SG2         

 

choose the correct answer: 

1-There ( was – were – are ) a book on the table . 

2-There (was – were - do  )many stores around here. 

3-Do you want ( someone  – no one - anything )to eat? 

4-I know( something – anything -  someone) who gives yoga lessons. 

5-She was scared ( so – because – to ) he was driving too fast . 

6-I don’t have a driver’s license.   -   ( Neither – So – more ) do I.  

6- 

 

 

 

 

 

 

 

 

 

 

 

 

 Do as shown between brackets. 

1-(Correct) 

…….……………had a very big lunch hefor dinner because  something didn’t eat Ali.a 

………………………  am I. So -I’m not tired right now.     b. 

. …………………a party last nightwere There   c. 

2-Iwrote \ Ahlam \ 2 days \ a test \ ago                       ( Reorder) 

…………………………………………………………………………………………………. 

3-No one was hurt . I am extremely relieved .        ( use So ) 

…………………………………………………………………………………………..……..  

4- I didn’t see anything.     (Show agreement with the statement. Use so or neither). 

………………………………………………………………………………………………………………..…………………………………………… 
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Name: 

Sad     angry        happy       scared        sleepy 

Match 


